BIC

log[ Relative Probability ]

—200

Window Half—Width (km/s)

10%

5%x10°

2x10°

10

0

—100

10*

1000

rm716 2/(\")93160 5283) 0.948
T | T | T | |
i BIC 435738 34 ABIC O. OOO AlogP 0.0000 ]
- x 367682.88 Ax 0.000 AlogP 0.0000 -
— — — — — — : .
L S BIC
ZEEEEEEEE——— L o 1,
- X
| ABIC —53297 1107 :( i
A? —53297 : -0.6
5197 5197 5283
A | | AC5 ] | AC5F | |
20 40 60 80 100 120
120 iterations
rm716 2/(393160 —5283)=0.948
[ T T T T T T T
| ' BIC 435738 34 ABIC O. OOO AlogP 0.0000 |
2 2
"""" 5197 IR R - 1§ * /RN | E & 174 < K A
I A ' [ AC AC.F |
i \ I y I S \ I ~ I .5_ N |
20 40 60 80 100 120
120 iterations
Fe2 2043% 672+232 km/s
rm716 BLR 10390 NLR 900 km/s
T | T | T | T | | H
BLR
NLR
Fell
120

120 iterations

kdh1 8-0ct-2021 14:48



